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. FHUTER R ZE 2000 volts
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Pl A5 kN 2 8 1EL
W A 4
BEL BT HiL J VRRM (1) | VDRMm (1) | VRsm (1) i
1200 1200 1200 1325 o .
1200 1200 1400 1525 (1) 50Hz/60zHzI1F 3% % 4 JE V5 H 40 to+115 °C.
1600 1600 1600 1750 (2) 10 msec. i 5
1800 1800 1800 2000 () Tj=115°C. - , .
2000 2000 2000 2900 (4)67 fgm{gﬁmvmwiwmﬁ . Tj=115°C.
— — (5) AEE
Virm = ﬁ@i?“‘%ﬁtﬁg O F T di/dt ARPEEIA/NIMA FR7ERS-
Vprum =1E ) H A WA FEL T 397, Section5-2-2-6.5C X f 44
Vrsw = S I0) AN E AT U AR L (2)
e . 10 mA
ERAR A B | Tooboe | 3004 3)
s b T 2R 0 (. dv/dt (4) | 500 V/psec
AR
Z H 5| mAME | BOKE | BE. | AL 7% i
AP Trav) 200 A | SINE,180° Fif fiT.=55°C
T A H L T YIARME Itrms 314 A
e s 10 msec (50Hz), [F543E, 180°%F
N=R Nraoy ) s
AN ST IRV R Irsm 3000 A Wfh, T, = 115 °C
I’tfl I’t 45000 A’s | 10 msec
AR I 200 mA | Vp=24V; R;= 12 ohms
2SIV Iy 100 mA | Vp-24V;I=25A
[ EBliRYAN 2 Viu 2.9 2.0 V| Ity =600 A; Tj=25°C
ML BT (5, 6) di/dt 800 Alus | AEE
HLE TR (6) di/dt 400 Alus | EE
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LS
Z M fg | BmeME | BOKE | ORME. | A 7% 4
1 )R RE s 2% Pou 200 w | p=40us
ST IRFE R R Pgav) 5 W
Vp =6 V;Ry =3 ohms;T;=-40 °C
300 mA | Vp=6 V;Ry =3 ohms;T;j = +25
I IA Al LI Ior 200 mA | °C
125 mA | Vp=6 V;R, =3 ohms;T;=
+115°C

Vp =6 V;R_ =3 ohms;T; =-40 °C
Vp =6 V;R =3 ohms;T;=0-

> Vol s
RLSEE S Vor 030 3 X Vi, = Rated Vigys R = 1000
’ ohms;
T,=+115°C
[ m EE W Verm 5 v
FF 2% Bt A
Z M Fg | mAME | RORME | R, | A % {5
ITM =50 A, VD =67% VDRM
T3 I} i) to 1.2 0.7 us | FIBKIR: Vo =30 V; Rg= 10
ohms; t. = 0.1 us; t, = 20 us
Itm > 1000 A; di/dt =25 A/us;
SRV . Vr2>-5V; B dV/dt=
T S h =-
RITIT (with Ve =-5 V) ta 33 HS 30V/us linear to 67% Vpry ;
T;= 115 °C; Duty cycle > 0.01%
R I > 2000 A; di/dt = 50 Alus;
A 32 I, A ™ 5 US;
FPALR Ve >-50 V; T = 115 °C
R PR PL R
Z M Fg | SAME | OKME | BORE | A % (s
4 T, -40 +115 °C
fifi A0 Tug -40 +140 °C
e X T ‘/\\{:
g 5o A Ro (o) 0.06 sopw | L
——
S Ro (s 0.03 oo | LREH
©HIE T P 10 kN
e Lb.
G5 W %6 o
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